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e Please check that this question paper contains 11 printed pages.

e Code number given on the right hand side of the question paper should be
: written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 32 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book durlng this period.

reoTTE

ECONOMICS

ReiRa @77 : 3 772 | | | SfERaH 37 : 100
Time allowed : 3 hours i - Maximum Marks : 100

58/2/2 bR 1 ~ PT.O.




qraT=y [ :
@) a?:r?@va?a%‘mﬁmaﬁm#?/ ,
(ii) WW%%WWW@GW?/

(iii) o7 §&Ir 1§ a91 17 - 21 317 TERIeAS 5 &, o g T 1 7% 8 |
sdqe/m*dwqa;mwﬁeﬁaﬁﬁﬁ?/

(iv) o7 T@T 610 3K 22 - 26 TTTITF T &, ﬁwﬁmﬁqsw?/
Y@ F IR GHIIA: 60 51 G 37w T8 g1 Tieq |

() T eI 11 - 13 K27 - 29 wmmg’ 7%?71?37&?%%437&7;?/
 Yed% FHT I G 7037‘3?##%73’?5’?77%?/

(vi) T9T T&IT 14-16 N 30 - 32 FIEIETF IR qTc ;/\9-1? ogd yedw &
6 3% & | I9% F1 IR arErgd: 100 ) G 3ifers 751 541 =eT |

(vii) TP GeIT11 3R 19 T 3 8 | |
(viii) W#Wﬁwawﬁ#aﬁqawawwmﬁ#ﬁm%mﬁﬁv '
SR =RT | ‘

General Instructions :
(i)  All questions in both the sections are compulsory.
Gi)  Marks for questions are indicated against each. ‘

(iii) Questions No. 1 -5 and 17 — 21 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

- (iv)  Questions No. 6~ 10 and 22 - 26 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words each.

(v)  Questions No. 11 - 13 and 27 — 29 are also short-answer quéstions

carrying 4 marks each. Answers to them should normally not exceed
70 words each.

(vi)  Questions No. 14— 16 and 30 - 32 are long-answer questions carrying
6 marks each. Answers to them should normally not exceed 100 words
each. e

(vii)  Questions No. 11 and 19 are value-based questions.

" (viii) Answers should be brief and to the point and the above word limits should
be adhered to as far as possible.
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 SECTION A

1. WO IE H UG R FR D | . 1
How is marginal product calculated ? ' :

2. oo R b whem SR | , L 1

- Define market supply. |

3. WY@ WA R 2 | ‘ | 1
What is a budget line ? ' |

4,  IE AVTG ST IRATST ST | | | : - 1
Define opportunity cost.

5. WM Ik % ST IR Rgweha BT Th HRUT AT | L
Give one reason for a leftward shift in demand curve. A .

6. T IcureA U h THE hl ST HIRT | o - 3
ATl e 1 Ic9= Bt 3 7 ST |

Explain the problem of ‘what to produce’.

OR
~ Why does an economic problem arise ? Explain.

7. memwaaﬁaﬁXaﬁthtoqé ST T SUHIRRT oh! JaT TTAT 8§
1D
X ht T ST < Y <ht Hiara S
| X ht HiFq - | Y |
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By spending his entire income oniy on two goods X and Y a consumer
finds that |
Marginal utility of X < Marginal utility of Y
Price of X Price of Y
Explain how will the consumer react.
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How 1s the demand of a good affected by the rise in prices of related'

- goods ? Explain.

T 1 % Ieure H Hd u&@&tcﬁ‘{ﬁmjﬁmﬁaﬁﬁ% | goeht gfd B

A A 16 8 | 3Eeh! < B g3 ufaera T 1 TReheH ST |
A fall in the price of a firm’s product results in a fall in its supply by

10.

11,

40 percent. Its price elasticity of supply is 1-6. Calculate the percentage
fall in its price.

T T 3R 3ftea e % o ey A ST HIFT |

Explaih the relationship between marginal cost aﬁd average cost.
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- Market for a necessary good is competltlve in which the emstlng firms

‘are earning super-normal proﬁts How can the policy of liberalization by

the government help in making the market more competitive in the

interests of the consumers ? Explam

12.
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A 20 percent fall in the price of a good, raises its demand from 600 units
“to 750 units. Calculate its price elasticity of demand.

OR
Explain any two factors that affect the price elastlclty of demand

13. Fefafga e ¥ I B 9w W‘:‘fﬁ?ﬁﬁ«m N T 3cqTesh dqer &
e # 2 | 3T 3 ¥ e wrw AR | (“v'ﬁrrrawna = Ty ff

wuaﬁrr?ﬁﬁq) \ 4
(3prea) T oz
1 12 10
2 10 20
3 8 30
4 10 40
5 12 | 50

From ther following table find out the level of output at which the
producer is in equilibrium. Give reasons for your answer, (Use marginal

cost — marginal revenue method)

Output Margmal Cost | Total Revenue
(units) T <
1 12 10
2 10 20
3 8 . 30
4 10 40
5 12 - 50

14.  IHEH S5 FREe % Strla SRl % Hger Y vl 6 e HIR | 6
Explain the conditions of consumer’s equilibrium under indifference
" curve analysis.
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16.

Note :

17

18.:
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Explam the effect of “mcrease ‘in demand of a good on its equlhbnum

price and equ1l1br1um quantity.

OR

Give the meaning of ‘collusive’ ohgopoly Explain any two features of

oligopoly.

Tierd! SrguTel <1 e Twemse | W w1 swm R |

Explain the Law of Variable Proportions. Use diagram.

ﬁmﬁ@am%g@m@w#@%%ﬁvwmw é»‘z:ezﬁw?/
The followzng question is for the Blind Candldates only in lieu of
question no. 16. v

,@ﬁﬁwﬁméwﬂaﬁmwﬁmmml

Explain the Law of Variable Proportions by using a schedule. :

Qug |
SECTIONB
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Define national income.

Tt ST e B § 2

What are demand deposits ?
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~ The country needs a huge amount of ‘imports for developmental
programmes. Name one step which the central bank can take to make

imports cheaper using the foreign exchange market.

20. ﬁ-mm»gr%ﬁ\ésa@amw . . 1

“State two sources of non-tax revenue receipts.
21.  STICIL T AT BT ? | . 1
What is an indirect tax ?

22, o Aifd % i e samwT | L | 3
State three objectives of budgetary policy.

o8 yEE AN ER S o En dk dm R d R 3

Distinguish between current account and capital account of balance of

payments account.

24. TS HIS R TSR W # 9 IR | | . 3

wﬁwﬁmmaﬁimmﬁﬁaﬁm lmm‘@@?
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- Distinguish between revenue deficit and fiscal deficit.
OR

Distinguish between revenue receipts and capital receipts in a

government budget. Give an example of each.
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Explain the medium of exchange function of money.

26. ﬁ%ﬁgﬂﬁmﬁiwﬁm%aﬂaﬁqﬂawa@ﬁ%msﬁw
EUELE 3
Explain the reason for inverse relationship between pnce of a foreign

_ currency and its demand. '

97, Tmfafga stfegi @ ¢ obl{ohwmq"{aohmn;ﬂwug aﬂqﬁaﬁa??mprm 4

| | | (7 #sT 7)
o s | o 8,000
G) wWewAdEE . 100
(iii) m&f%agmm i . 200
(v) TR fEh w1 3w | " / o . 380
) nwa?ﬁzmﬂn ' . 5500

(vi) TertmIT | - 500

From the following data calculate “Gross Value Added at Factor Cost” :

(T in crores)

@  Sales g o | 8,000

(i) Change in stock | . . 100
(i) Subsidies ' . .
(iv) Consumption of fixed capital Vi : 300
(v)  Intermediate consumptiorl | i | 5,500
(vi)  Rent | : 500

58/2/2 , ; o 8




28,

29.

30.
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How will you treat the following while calculating domestic product of

India ? Give reasons for your answer.

(i)  Profits earned by a foreign company in Indi&a./

(i)  Salary of Indian residents working in Russian Embassy in India.
- OR

Explain the circular flow of income.

‘G TR o Al S 7 TEIET | g Seh THRT I ATNISTH
et g wrg fmio 5 Frifa w0 % e S8 s g 2 » 4
Explain the meaning of “open market operations”. How does the central
bank use it for controlling credit creation by commercial banks ?

T arsfee TN B C = 400 + 075 Y 2, B C S o1 3 Y
r@um%aﬁtﬁmmzooo% I@am%wwaﬁtwﬁnm

1 UReheH HIfvT | 6

“Inan economy, the consumption function is C =400 + 075 Y, where C is

consumption expenditure and Y is national income and investment

expenditure is 2000. Calculate the equilibrium level of national income

- and consumption expenditure.
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AT SHINTT | 6

SR

Teh HEATeHh IeEUT <l TRl § e Tureh <A shriyumelt TusmsT |
Explain all the changes that take place in an economy when aggregate
demand and aggregate supply are not equal.
3 : OR
Explain the working of 1nvestment multlpher with the help of a
 numerical example.

32. i srfwsl @ Tfle o 1 ufterer Hife - » 6

| (= g )
@ feafel | , . () 300
| Gi) el o oRefie | . 6,000
Gii) formm o .. | 400
Gv) e | 200
(v) for s w1 3w | - 300
(vi) I # wﬁaﬁ:r . | .50
i) L | ~ - | S
(viii) ﬁ%sﬁa%ﬁaamm “"(—)80»
(ix) foa svcag = o . - 600
(0 o - . ] 500
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Calculate ‘National Income’ from the following data :

(< in crores)

(@)  Net exports o : | () 300

(ii) Compensation of employees 6000
(i) Rent e . 400
(iv) Dividend f 200
(v) Consumption of fixed capital | A 300
(vi)  Change in stock | o | 50
(vi) Profits . 800
(viii) Net factor income to abroad ) 80
(ix) Net indirect taxes : . : 600

(x) Interest G 500
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